g3l
¢ E RS
 EDENERES
2021-2022

\




SEENE: &)

e @

b = 4f%
FHEE EERL R A
L — e

- YA J




1. 5IA
zl:r“ntpasﬁ“ (%QF%EF'@%&%%E)

&

(1)

4Rz CRHE
- ERE
L SR
B

o

S ERE T ER

/

45-55%

+

(11)

ZEERH
fe13(EFRH
1 TE 2

BRI fHERAR

\_ *eEmsuEee)

20-30%

+

4 (|||)

CEES = v

- FEE R
- EGTIRS

- EAHEMHEE

"

~

Hmﬁﬂwfﬂﬁ

- Python 245

)

15-35%



L H P 22 R 7N SRR

HERLE hY BT WME AREGERER

F—4HEERE A 3 gEtEllBitEe RS P IREFEGRR TR R

FLHEERE A9BSR HhE EEEEECERE B EsRGEERE

F=HEEERE [EEH g BB (D)

A ERE LG Y S

Al

%ﬁiﬁ:ﬁ@ﬁ TEEEE MG RS Python F24RE  (EASEMIEE




4B - 4E

FEER}

s —

S

g =

Rl AR EEGEIR R

HAth 2B SRR ERAE

>
SIS E IS SS
i




=REB=

fERFEHE LR (HMSC) 2
B R IT (M2)




1l
=
3
a

WEEE)
(2021-2022)

~J




P=HRSPRRAE—BR

H #A JEE] B H#Y
20214E10H EA] PEFAEER R 7= IR B A2 R 2B R
20/10/2021 PEEEFR(C) AR %,ﬁ%gg%g%% |
1/12/2021 HEEERC) AR iﬁ;ﬁ?@i&%ﬁﬂﬁﬁ

16/2/2022 HREERE) R %)&%g@?di% |
18/2/2022 SRR s = FIERHE

H AR AR EERE




th

4

=HRePERRIER (=S

17/4-23/5

= P EEERHE &

- RS ERERE - PAEE

N e = EE SEE M b
&f@%@% &If&ﬁiﬁaﬂé
29/4 PR s o E B MEEEERI R
2/5-6/5 TAEEERY AEEENAN GRS U R R A
R - LR FERR IR
18/5 fﬁf{jt_n%(lm) n%% /}f(éééT%%%%$+\gg %
417 =) R R o 7 IEGERIE T
4/7-8/7 E=ER AEHmENST B U ISER A
7THH IR AE S




2. ZBRME

FEMERR  BEREEPE O BAREERE IEsUEERY

SFHER - H=15 ARET 4/7-8/ LT
- MERET




3.:ERIRA

HENNSEEEFTE
SN =P i
AERIg A
IR EREEE

‘ TR E ERRY R 4R
FERES T RIS




3.2PRFRRI - HZNATERERTHE

o FASRERH
NRSBEEESE 20151113 BEE
"TATEALEN . BASEZER
s FRREEVES 20151016 .
2016-01-06 zEEbEFﬁ
+RISBKBSESE  2015-10-09 L
NEZFERERERN+ B2,
BEESRE - EFHABFRIGTEEEAE
2015-11-27 - mEAEKRR
TEF >> MAERESEIE  2015-09-25 qg2% > >

TR e e i A EE e Pl

L PG Y - PP e —



3-%$SI'/\ | - ”‘g 3 ?é EI
W S

L€ 3o ACEBOOK B8

P NERERAE R (04-07-2019) 1o ¥ﬁ§$ﬁ¢§—
P =RIMFIRAE(20-6-2019) 5k

sremBA@EI209 0 e 09090900 B
D EREREETI R (2-4-2019)
AT R 1819

h=ERERR(28-1-2019)
T8F

22021
HRJJUPASHTEZ HIZ A2 thigts

55






3. ENRAl - 2EREHRE
=2
= 2 R

EREERE
REARE, SEEHREEEETERTRES)




I/

AR RHFRRI-P=fRAZ2 5 .

)

RTRBIZ BT EAENT

107= 107= T




